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A study on the crew roster scheduling

B & A7 Eow
Kim, Young-Hoon Kim, Ji-Pyo

ABSTRACT
The crew operation scheduling problem is divided into duty generation and duty allocation. The
railway crew roster scheduling(duty aliocation) is developed monthly for each crew’s office,
considering the car types and crew’s driving ability. However, it is very difficult to make
schedules which assign monthly working hours to each crew evenly.

The purpose of this thesis is to minimize the differences between each crew’s total duty times
and make a rostering table. To minimize the differences among monthly working hours of each
crews are grouped according to car type and crew'’s driving ability and a rostering table which
could be shared by the group members is developed.

Our approach is to apply the techniques of Constraint Programming in order to solve such
problems efficiently. This algorithm is suitable to solve optimization problems which involve many
complicated constraints. And including the concept of cost, we suggested the model which cnable
to make the rostering table with a minimum personnel.
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THelntVar(m,0,0);

0. g < NbGroup, g++) {
totalGap + lcAbs(gaplgl);

m.add (llcScalProd(x{ gl Times) + gap{gl] == stlLevel);

total Gap

HclntExp totalGap
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